10.3 Solving Radical Equations

Essential Questions:

How can you solve an equation that contains square roots?

Learning Goals:

* I can solve radical equations.
* I canidentify extraneous solutions.
* I cansolve real-life problems involving radical equations.

A (\M\C,O( efh‘llﬁ o1 is an equation that contains a radical expression with a

variable in the radicand. v
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I can solve radical equations

Example 1: Solving Radical Equations
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Example 2: Solving a Radical Equation with Radicals on Both Sides
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Examgle 3: Solving a Radical Equation Involving a Cube Roo'r

YIRS =3

2) ,/y—4 = 1
A2 =41 U-4= |
2 ;:u Yy +Y
& 19 >
x=16| b
You-Try:
1) 3\/3c+7=_1ozoo 2) Jy+6 = {5y - 2
2etl” Iqﬂ gw - 5y -3
e=443
i ;} "{.‘jfa

I can identify extraneous solutions

Example 4:Identifying an Extraneous Solution
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I can solve real-life problems involving radical equations Jt/ /0

Example 5: The time t (in seconds) it takes a trapeze artist to swing back and forth is represented by

the function ;=2 Jg ., where r is the rope length (in feet). It takes the trapeze artist 6 seconds to
swing back and forth. Is this rope %as long as the rope used when it takes the trapeze artist 4 seconds

to swing back and forth?
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Closure: What I learned today was.....



10.4 Inverse of a Function

Essential Questions:

How are a function and its inverse related?

Learning Goals:

* T can find inverses of relations.

» I can explore inverses of functions.

e I can find inverses of functions algebraically.
e I can find inverses of nonlinear functions.

An inverse function switches the ___\N ﬁ‘}d’ OvVe J ) '}"“‘p j'l" o I )25

Inverse functions are functions that ) 9] Y\d 5" / L 4"' o !/‘ AN

I can find inverses of relations \

Example 1: Finding Inverses of Relations
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Example 2:
1) Let f(x) = 3x — 5. Solve y = f(x) for x. Then find the input when the output is 4.
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10.4 Inverse of a Function

1) Solve y = f(x) for x. Then find the input when the output is 2 for: f(x) =2x -3
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I can find inverses of functions algebraically

Writing a Formula for the Inpu'r of a Function
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Example 3: Finding the Inverse of a Linear Function

Find the inverse of the following linear functions. Then graph both functions, (0(\, %‘.Y‘\il )
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10.4 Inverse of a Function
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I can find inverses of nonlinear functions
Example 4: Finding the Inverse of a Quadratic Function
Find the inverse of Wr\g quadr‘g{ic functions. Then graph bo‘r/h)funcﬂons. - a| X;
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10.4 Inverse of a Function
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Exarngle 5: Finding the Inverse of a Radical Function
Find the inverse of the funchonNMraph the function and |‘rs inverse to deterime if the inverseisa
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Closure: What I learned today was..... t
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